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B.Com.(A&F) DEGREE EXAMINATION, APRIL 2018.
III YEAR  VI SEMESTER
Core Major- Paper XVII  -  MANAGEMENT ACCOUNTING

Time : 3 Hours												Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12)Answer any  TEN  questions

1. Mention the areas of specialization (any four) that form the Scope of Management Accounting.
2. Prepare a Common Size Income Statement from the following.
Profit & Loss A/C of Solanki Industries Ltd. for the year ended 31st March	 (`in lakhs)
	     Particulars	
	2016	
	2017	
		Particulars	
	2016	        
	2017

	To Cost of Goods sold
	500	
	640
	  By Sales 	
	700
	900

	To Operating Expenses
	  50 	
	60     
	
	
	

	To Net Profit
	150 	
	   200
	
	
	

	TOTAL
	900	
	700                                       
	
	700
	900


3. What do you mean by ‘Comparative Balance Sheet’?
4. Give the meaning of ‘Ratio Analysis’.
5. Find the Current Ratio from the following Balance Sheet as on 31st March 2017. 
	
	`
	
	`

	Equity capital                         
	1, 50,000                                   
	Fixed assets           
		1, 62,000

	Revenue reserves                       
	30,000                                   
	Current assets:
	

	8% Debentures
	20,000                                  
	Stock                      
	    22,000

	Current liabilities:                                                                   
	
	Debtors  
	    51,000

	Sundry creditors                       
	39,000                                 
	Bills receivable                
	2,000

	Bank Overdraft
	10,000                                  
	 Bank                                
		12,000

	
	2, 49,000                                                                                                                 
	
	2, 49,000


6. From the following particulars, calculate Capital Gearing Ratio ONLY.
	
LIABILITIES
	(in `)
	ASSETS
	(in `)

	5,000 Equity shares of `100 each       
	5,00,000             
	Land & building                         
	6,00,000

	2,000 8% Preference shares    of `100 each                  
	2,00,000            
	Plant & Machinery                   
	             5,00,000    

	4,000 9% Debentures of `100 each   
	4,00,000            
	Stock
	2,40,000

	Reserves  
	  3,00,000                                          
	Debtors
	 2,00,000

	Creditors
	1,50,000
	Cash and bank                               
	55,000

	Bank Overdraft 	
	          50,000
	Pre-paid Expenses
	      5,000           

	
	 16,00,000	
	
	            16,00,000


7. What do you mean by Budgetary Control?
8. From the following prepare a Production Budget for three months ending on March 31, 2015 for  
    a factory producing two products.
	Product
	Estimated Stock (in units) on January 1, 2015
	Estimated Sales (in units) during Jan – March 2015
	Desired Closing Stock (in units) on 31st March 2015

	A
	2000
	10000
	5000

	B
	3000
	15000
	4000


9. Calculate Funds from Operations from the following. Profit & Loss Account
	Particulars 
	(in `) 
	Particulars 
	(in `) 

	To Expenses paid 
	3,00,000
	By Gross Profit 
	4,50,000

	To Depreciation
	70,000
	By Gain on sale of land 
	60,000

	To Loss on sale of Machine 
	4,000
	
	

	To Discount
	200
	
	

	To Goodwill
	2,000
	
	

	To Net Profit
	13,3800
	
	 (
[P.T.O.]
)

	
	5,10,000
	
	5,10,000


10. A project costs `1,00,000 and yields an annual cash inflow of ` 20,000 for 7 years.   
      Calculate Pay-back Period.
11. Calculate Pay-back Period for a Project which requires a cash outlay of `10,000 and generates cash  
       inflows of ` 2000, ` 4000, ` 3000, ` 2000 in the first, second, third & fourth year respectively. 
12. What do you understand by Capital Budgeting?
SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19) Answer any FIVE questions
13. Distinguish between Cost Accounting & Management Accounting.
14. Prepare a Common Size Balance Sheet from the following. 
Balance Sheet of Jai Industries Ltd. as on 31st March	(` in lakhs)
	Liabilities
	2016  
	2017  
	Assets
	2016  
	2017


	Bills Payable
	  150
	    225
	Cash
	   50
	70    

	Sundry Creditors
	 150
	    200
	Debtors
	    300
	450

	15% Debentures
	100
	    150
	Stock
	100
	200

	10% Preference Capital
	200  
	    200
	Land
	100
	120

	Equity Capital
	 300
	   300
	Building
	250
	225

	Reserves
	200
	    250
	Plant
	200
	180

	
	
	
	Furniture
	   100
	80

	TOTAL
	 1,100   
	  1,325
	
	1,100            
	1,325


15. What are the limitations of Ratio Analysis?
16.Prepare a statement showing changes in Working Capital from the following. 
      Balance Sheets of Manasarovar Pvt.Ltd., As on 31st March
	Liabilities
	2015 (`)
	2016 (`)
	Assets
	2015 (`)
	2015 (`)
	2016 (`)
	2016 (`)

	Share capital             
	6,00,000          
	6,00,000       
	Fixed assets               
	10,00,000        
	
	11,20,000
	

	Reserves  
	50,000          
	1,80,000       
	Less: Depreciation
	3,70,000
	6,30,000
	4,60,000                     
	

	 Debentures  
	 3,00,000          
	2,50,000        
	Stock
	
	2,40,000          
	
	3,70,000

	Creditors (Goods)
	1,70,000           
	1,60,000        
	Book debts                  
	
	2,50,000          
	
	2,30,000

	Prov. for Income        
	60,000             
	80,000        
	Cash in hand & bank      
	
	80,000             
	
	60,000

	Tax
	
	
	Preliminary expenses
	
	20,000
	
	15,000

	
	12,20,000         
	13,35,000
	
	
	12,20,000       
	
	13,35,000



17. Calculate the average rate of return for projects A and B from the following. If the required rate of return is  
       12%, which project should be undertaken? 
                                               Project A                  Project B                                                                                                                                                                 
Investments                            ` 20,000                    ` 30,000
Expected life                          4 years                       5 years
(No salvage value)
Projected Net Income (in `) after interest, depreciation and taxes
	Years
	Project A
	Project B

	1
	2,000                       
	3,000

	2
	1,500
	3,000

	3
	1,500                        
	2,000

	4
	1,000                       
	1,000                       

	5
	
	1,000                       

	
	6000
	2,000



18. From the particulars given below prepare a Cash budget for the month June 2016:
a. Expected Sales: April 2016 –   ` 2,00,000;	May 2016 -  ` 2,20,000;	June 2016 –  `1,90,000.
Credit allowed to customers is two months and 50% of the sales of every month is on cash basis.
b. Estimated Purchases: May 2016 –  ` 1,20,000;	June 2016 –  ` 1,10,000
40% of the purchases of every month is on cash basis and the balance is payable next month
c. ` 2,000 is payable as rent every month
d. Time lag in payment of overhead is ½ month. Overhead:For May 2016` 12,000 For June 2016  `11,000
e. Depreciation for the year is  ` 12,000.
f. Interest receivable on investment during June 2016 and Dec 2016 is ` 3,000 each.
g. Tax payable during April 2016 is ` 10,000.
h. Estimated Cash Balance as on 1-6-2016 is `42,500.
19. Calculate (a) Gross Profit Ratio, (b) Operating Ratio, (c) Operating Profit Ratio, (d) Net Profit 
       Ratio.
	Particulars 
	(in `) 
	Particulars 
	(in `) 

	Sales 
Sales Return 
Cost of Sales
Interest Expenses (Non-Operating) 
	21,000 
1,000
16,400
100
	Income from Investments  Administration Expenses  
Selling Expenses
Depreciation   
	200
1300
700
200



SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions
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20. Prepare Cash Flow Statement from the following of Gupta Industries Ltd. for the year ended 
       31st March 2016 (either direct or indirect method):

Balance Sheets as on 31st March of 2015 & 2016

	Liabilities
	2015
	2016
	Assets
	2015
	2016

	Share Capital
Secured Loans
Creditors
Tax payable
Profit & Loss A/c
	70,000
-
14,000
1,000
7,000
	70,000
40,000
39,000
3,000
10,000
	Fixed Assets
Stock
Debtors
Cash
Prepaid expense
	50,000
15000
5,000
20,000
2,000
	91,000
40,000
20,000
7,000
4,000

	Total
	92,000
	1,62,000
	Total
	92,000
	1,62,000



Profit & Loss A/C for the year ended 31st March 2016
              Dr.										Cr.
	Particulars
	Amount (`)
	Particulars
	Amount (`)

	Opening Stock
Purchases 
Gross profit c/d
	15,000
98,000
27,000
	Sales
Closing Stock 
	100,000
  40,000

	Total
	1,40,000
	Total
	1,40,000

	General Expenses
Depreciation
Provision for tax
Net Profit c/d
	11,000
  8,000
 4,000
 4,000
	Gross Profit c/d
	   27,000




	Total
	27,000
	Total
	27,000

	Dividend (interim)
Balance c/d 
	  1,000
             10,000
	Balance b/d 
Net Profit b/d
	  7,000
  4000

	Total
	             11,000
	Total
	11,000





 (
[P.T.O.]
)

21. From the following data, calculate (a) Stock Turnover Ratio, (b) Fixed Assets Turnover Ratio, (c) Turnover  
      to Total Assets, (d) Debtors Turnover Ratio, (e) Average Collection Period, (f) Creditors Turnover Ratio,           
      (g) Average Payment Period
Sales 			5,00,000 	[Credit Sales 2,30,000]
Opening Stock               75,000				 
Purchases                    3,25,000     [Credit Purchases 2,40,000]       
Land & Building 	1,50,000 				         	
Plant & Machinery         80,000
Debtors 			1,40,000
Cash 			   30,000
Closing Stock 	         1,00,000
Creditors                     1,05,000

22. Draw up a flexible budget for the Overhead expenses on the basis of the following data and determine the  
      overhead rates at 70%, 80% and 90% plant capacity.
	
	At 70 % Capacity `
	At 80% Capacity   `
	At 90% Capacity `

	Variable Overheads:
	
	
	

	Indirect labour
	-
	12,000                               
	-

	 Stores including spares                  
	-
	4000
	-

	Semi-variable overheads:
	
	
	

	Power(30% fixed,70% variable) 
	-
	20,000                                
	-

	Repairs and maintenance 
(60%fixed , 40% variable)            
	-
	2,000
	-

	Fixed overheads:
	
	
	

	Depreciation  
	-
	11,000
	-

	Insurance
	-
	3,000
	-

	Salaries
	-
	10,000                              
	-

	Total Overheads
	-
	62,000
	-


     Estimated direct labour hours:1,24,000 hours.

23. Consider the following proposed investment with the indicated cash inflows.
	Investment
	Initial Outlay ( `‘000)
	Year – end cash inflows

	
	
	year 1( `‘000)
	year 2( `‘000)
	year 3( `‘000)

	A
	200
	200
	Nil
	Nil

	B
	200
	100
	100
	100

	C
	200
	20
	100
	300


Rank the investment deriving the net present value (NPV) using a discount rate of 10 per cent and state  
        your views.
Note :   Present value of `1 
             		Due at the end of year:                                           `
1 0.909	
                         	2                                                                         0.826
                         	3                                                                         0.751
4

